

WOODSTOCK-LINCOLN 43494 X-A005(117)

PROJECT: WOODSTOCK-LINCOLN

STATE PROJECT NUMBER: 43494

FED. PROJECT NUMBER: X-A005(117)

DATE BIDS OPEN:

March 03, 2022, 2:00

SCOPE OF WORK: Pavement preservation of I-93 from approximately Exit 30 to 32

COMPLETION DATE:

September 16, 2022

LOCATION:

District 3, District 1, Grafton

Awarded To: GORMAN GROUP LLC, THE

200 CHURCH STREET ALBANY, NY 12202

Amount: Award Date: \$4,796,762.26

Certified by: PETER.E.STAMNAS

Director of Project Development

Summary of Bidders

Contractor	Bid Amount	Rank
GORMAN GROUP LLC, THE	\$4,796,762.26	Α
200 CHURCH STREET, ALBANY NY 12202		
PIKE INDUSTRIES, INC.	\$5,167,626.12	В
O EACTOATE DADIC DOAD, DELMONT NILLOCCCO		

3 EASTGATE PARK ROAD, BELMONT NH 03220



WOODSTOCK-LINCOLN 43494 X-A005(117)

				ı	PS&E	200 CHU	ROUP LLC, THE RCH STREET r, NY 12202	3 EASTGAT	JSTRIES, INC. TE PARK ROAD IT, NH 03220
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

203.1	COMMON EXCAVATION	CY	4,441.50	\$35.09	\$155,852.23	\$1.00	\$4,441.50	\$20.00	\$88,830.00
203.2	ROCK EXCAVATION	CY	119.26	\$106.47	\$12,697.61	\$125.00	\$14,907.50	\$150.00	\$17,889.00
206.1	COMMON STRUCTURE EXCAVATION	CY	2.60	\$400.86	\$1,042.24	\$150.00	\$390.00	\$5,000.00	\$13,000.00
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	10.00	\$50.00	\$500.00	\$500.00	\$5,000.00	\$65.00	\$650.00
214.	FINE GRADING	U	1.00	\$28,000.00	\$28,000.00	\$33,258.50	\$33,258.50	\$25,000.00	\$25,000.00
304.301	CRUSHED GRAVEL	CY	67.60	\$85.00	\$5,746.00	\$34.00	\$2,298.40	\$135.00	\$9,126.00
304.31	CRUSHED GRAVEL FOR SHIMMING	CY	883.90	\$29.71	\$26,260.67	\$15.00	\$13,258.50	\$50.00	\$44,195.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	1,124.20	\$28.01	\$31,488.84	\$35.00	\$39,347.00	\$40.00	\$44,968.00
403.11822	HBP-3/4" BINDER MIX, MACHINE METHOD, POLYMER MODIFIED, QC/QA TIER 2	TON	3,325.10	\$97.40	\$323,864.74	\$98.00	\$325,859.80	\$131.00	\$435,588.10
403.11823	HBP-3/4" BINDER MIX, MACHINE METHOD, POLYMER MODIFIED	TON	1,825.80	\$70.00	\$127,806.00	\$98.00	\$178,928.40	\$111.00	\$202,663.80
403.11842	HPB-1/2" SURFACE MIX, MACHINE METHOD, POLYMER MODIFIED, QC/QA TIER 2	TON	2,826.20	\$110.05	\$311,023.31	\$110.00	\$310,882.00	\$139.00	\$392,841.80
403.11843	HPB-1/2" SURFACE MIX, MACHINE METHOD, POLYMER MODIFIED	TON	120.90	\$272.73	\$32,973.06	\$110.00	\$13,299.00	\$300.00	\$36,270.00
403.12	HBP-HAND METHOD	TON	269.30	\$150.00	\$40,395.00	\$185.00	\$49,820.50	\$350.00	\$94,255.00
403.16	PAVEMENT JOINT ADHESIVE	LF	42,637.00	\$0.24	\$10,232.88	\$0.43	\$18,333.91	\$0.50	\$21,318.50
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	16,614.00	\$3.24	\$53,829.36	\$3.92	\$65,126.88	\$6.75	\$112,144.50
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	1,168.00	\$6.66	\$7,778.88	\$4.25	\$4,964.00	\$14.00	\$16,352.00
410.752	EMULSIFIED ASPHALT FOG SEAL	GAL	15,267.00	\$3.70	\$56,487.90	\$4.05	\$61,831.35	\$9.00	\$137,403.00
410.753	COVER AGGREGATE	TON	38.10	\$1,670.61	\$63,650.24	\$1,200.00	\$45,720.00	\$400.00	\$15,240.00
413.6	CRACK FILL PRIOR TO THIN LIFT OVERLAY	LB	50,101.90	\$1.88	\$94,191.57	\$1.65	\$82,668.14	\$2.50	\$125,254.75
417.	COLD PLANING BITUMINOUS SURFACES	SY	31,340.00	\$3.51	\$110,003.40	\$5.58	\$174,877.20	\$6.00	\$188,040.00
417.118	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 0.5" DEEP	LF	765.30	\$7.63	\$5,839.24	\$5.00	\$3,826.50	\$2.50	\$1,913.25
417.21	MICRO-MILLING BITUMINOUS SURFACES	SY	98,865.00	\$0.83	\$82,057.95	\$1.50	\$148,297.50	\$1.25	\$123,581.25
417.416	RUMBLE STRIPS, 16" WIDE	LF	1,042.00	\$10.00	\$10,420.00	\$6.50	\$6,773.00	\$15.00	\$15,630.00
419.13	BONDED WEARING COURSE, TYPE C	TON	8,681.30	\$120.83	\$1,048,961.48	\$125.25	\$1,087,332.83	\$142.00	\$1,232,744.60

Friday, March 4, 2022



					PS&E	200 CHU	RROUP LLC, THE RCH STREET IY, NY 12202	PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD BELMONT, NH 03220	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
419.3	POLYMER MODIFIED EMULSION FOR BWC	GAL	50,432.50	\$2.75	\$138,689.38	\$2.34	\$118,012.05	\$3.00	\$151,297.50
559.412	REPAIR ASPHALTIC PLUG EXPANSION JOINT (F)	LF	507.00	\$103.46	\$52,454.22	\$137.75	\$69,839.25	\$140.00	\$70,980.00
604.0007	POLYETHYLENE LINER	EA	39.00	\$134.01	\$5,226.39	\$115.00	\$4,485.00	\$150.00	\$5,850.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	39.00	\$467.39	\$18,228.21	\$700.00	\$27,300.00	\$525.00	\$20,475.00
608.2401	4" CONCRETE SIDEWALK	SY	22.10	\$92.53	\$2,044.91	\$150.00	\$3,315.00	\$150.00	\$3,315.00
608.2801	8" CONCRETE SIDEWALK	SY	536.70	\$125.00	\$67,087.50	\$165.00	\$88,555.50	\$85.00	\$45,619.50
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	3.80	\$476.96	\$1,812.45	\$220.00	\$836.00	\$500.00	\$1,900.00
609.21	STRAIGHT GRANITE SLOPE CURB	LF	1,705.00	\$24.17	\$41,209.85	\$23.00	\$39,215.00	\$22.00	\$37,510.00
609.22	STRAIGHT GRANITE SLOPE CURB WITH RADIAL JOINTS	LF	4.00	\$19.57	\$78.28	\$75.00	\$300.00	\$22.00	\$88.00
609.5	RESET GRANITE CURB	LF	9,119.00	\$10.00	\$91,190.00	\$9.00	\$82,071.00	\$16.00	\$145,904.00
615.014	RELOCATING TRAFFIC SIGN TYPE A	U	2.00	\$5,000.00	\$10,000.00	\$6,700.00	\$13,400.00	\$10,000.00	\$20,000.00
615.02201	TRAFFIC SIGN TYPE B, BREAKAWAY MOUNTS	SF	130.00	\$129.49	\$16,833.70	\$170.00	\$22,100.00	\$180.00	\$23,400.00
615.0501	TRAFFIC SIGN TYPE BB	SF	49.00	\$20.33	\$996.17	\$20.00	\$980.00	\$17.00	\$833.00
615.0601	TRAFFIC SIGN TYPE CC	SF	32.76	\$16.77	\$549.39	\$17.00	\$556.92	\$17.00	\$556.92
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	2.00	\$1,200.00	\$2,400.00	\$1,200.00	\$2,400.00	\$1,400.00	\$2,800.00
616.95	INSTALL TRAFFIC STUDY EQUIPMENT	U	2.00	\$7,000.00	\$14,000.00	\$10,000.00	\$20,000.00	\$12,000.00	\$24,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	82,200.00	\$1.00	\$82,200.00	\$1.00	\$82,200.00	\$1.00	\$82,200.00
618.7	FLAGGERS	HR	1,743.00	\$31.50	\$54,904.50	\$18.00	\$31,374.00	\$42.00	\$73,206.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$340,000.00	\$340,000.00	\$619,763.82	\$619,763.82	\$200,000.00	\$200,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	6.00	\$3,645.00	\$21,870.00	\$2,640.00	\$15,840.00	\$4,000.00	\$24,000.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$2,398.00	\$4,796.00	\$2,400.00	\$4,800.00	\$4,000.00	\$8,000.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	2.00	\$13,151.00	\$26,302.00	\$8,400.00	\$16,800.00	\$9,500.00	\$19,000.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	62.00	\$5.30	\$328.60	\$20.00	\$1,240.00	\$20.00	\$1,240.00
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	481,310.00	\$0.22	\$105,888.20	\$0.16	\$77,009.60	\$0.16	\$77,009.60
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	84.00	\$7.50	\$630.00	\$15.00	\$1,260.00	\$5.00	\$420.00
632.22	PREFORMED RETROREFLECTIVE TAPE, TYPE II (NON-REM.) SYMBOL OR WORD	SF	66.80	\$12.50	\$835.00	\$40.00	\$2,672.00	\$10.00	\$668.00



					PS&E	200 CHL	GROUP LLC, THE JRCH STREET NY, NY 12202	3 EASTGA	OUSTRIES, INC. ITE PARK ROAD INT, NH 03220
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	210.00	\$2.25	\$472.50	\$2.00	\$420.00	\$2.00	\$420.00
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	7,368.00	\$1.84	\$13,557.12	\$1.00	\$7,368.00	\$1.00	\$7,368.00
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	5,947.00	\$4.51	\$26,820.97	\$2.00	\$11,894.00	\$2.00	\$11,894.00
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	84.00	\$6.60	\$554.40	\$4.00	\$336.00	\$4.00	\$336.00
632.3124	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 24" LINE	LF	34.00	\$10.07	\$342.38	\$6.00	\$204.00	\$6.00	\$204.00
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	77.30	\$9.37	\$724.30	\$35.00	\$2,705.50	\$35.00	\$2,705.50
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	140,168.00	\$0.43	\$60,272.24	\$0.70	\$98,117.60	\$1.00	\$140,168.00
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	18.00	\$5.05	\$90.90	\$3.00	\$54.00	\$4.00	\$72.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	9,056.20	\$3.73	\$33,779.63	\$5.00	\$45,281.00	\$6.00	\$54,337.20
645.531	SILT FENCE	LF	9,056.20	\$2.18	\$19,742.52	\$5.00	\$45,281.00	\$1.75	\$15,848.35
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	21.80	\$3.33	\$72.59	\$56.28	\$1,226.90	\$50.00	\$1,090.00
677.42013	RWIS SUB-SYSTEM EQUIPMENT	U	1.00	\$5,000.00	\$5,000.00	\$11,500.00	\$11,500.00	\$10,000.00	\$10,000.00
692.	MOBILIZATION	U	1.00	\$329,370.00	\$329,370.00	\$359,674.71	\$359,674.71	\$325,000.00	\$325,000.00
698.12	FIELD OFFICE TYPE B	MON	8.00	\$2,500.00	\$20,000.00	\$3,590.00	\$28,720.00	\$2,100.00	\$16,800.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00
1010.21	ASPHALT CEMENT ADJUSTMENT FOR EMULSION	\$	5,794.00	\$1.00	\$5,794.00	\$1.00	\$5,794.00	\$1.00	\$5,794.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	28,418.00	\$1.00	\$28,418.00	\$1.00	\$28,418.00	\$1.00	\$28,418.00
		<u> </u>	Totals:		\$4,398,668.90		\$4,796,762.26		\$5,167,626.12
			Alt. Totals:						
			Totals:		\$4,398,668.90		\$4,796,762.26	\$5,167,626.12	



				A-Bid	der	PS8	kΕ .	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
203.1	COMMON EXCAVATION	CY	4,441.50	\$1.00	\$4,441.50	\$35.09	\$155,852.23	(\$151,410.73)
203.2	ROCK EXCAVATION	CY	119.26	\$125.00	\$14,907.50	\$106.47	\$12,697.61	\$2,209.89
206.1	COMMON STRUCTURE EXCAVATION	CY	2.60	\$150.00	\$390.00	\$400.86	\$1,042.24	(\$652.24)
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	10.00	\$500.00	\$5,000.00	\$50.00	\$500.00	\$4,500.00
214.	FINE GRADING	U	1.00	\$33,258.50	\$33,258.50	\$28,000.00	\$28,000.00	\$5,258.50
304.301	CRUSHED GRAVEL	CY	67.60	\$34.00	\$2,298.40	\$85.00	\$5,746.00	(\$3,447.60)
304.31	CRUSHED GRAVEL FOR SHIMMING	CY	883.90	\$15.00	\$13,258.50	\$29.71	\$26,260.67	(\$13,002.17)
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	1,124.20	\$35.00	\$39,347.00	\$28.01	\$31,488.84	\$7,858.16
403.11822	HBP-3/4" BINDER MIX, MACHINE METHOD, POLYMER MODIFIED, QC/QA TIER 2	TON	3,325.10	\$98.00	\$325,859.80	\$97.40	\$323,864.74	\$1,995.06
403.11823	HBP-3/4" BINDER MIX, MACHINE METHOD, POLYMER MODIFIED	TON	1,825.80	\$98.00	\$178,928.40	\$70.00	\$127,806.00	\$51,122.40
403.11842	HPB-1/2" SURFACE MIX, MACHINE METHOD, POLYMER MODIFIED, QC/QA TIER 2	TON	2,826.20	\$110.00	\$310,882.00	\$110.05	\$311,023.31	(\$141.31)
403.11843	HPB-1/2" SURFACE MIX, MACHINE METHOD, POLYMER MODIFIED	TON	120.90	\$110.00	\$13,299.00	\$272.73	\$32,973.06	(\$19,674.06)
403.12	HBP-HAND METHOD	TON	269.30	\$185.00	\$49,820.50	\$150.00	\$40,395.00	\$9,425.50
403.16	PAVEMENT JOINT ADHESIVE	LF	42,637.00	\$0.43	\$18,333.91	\$0.24	\$10,232.88	\$8,101.03



WOODSTOCK-LINCOLN 43494 X-A005(117)

				A-Bidder PS&E			\$Е	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	16,614.00	\$3.92	\$65,126.88	\$3.24	\$53,829.36	\$11,297.52
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	1,168.00	\$4.25	\$4,964.00	\$6.66	\$7,778.88	(\$2,814.88)
410.752	EMULSIFIED ASPHALT FOG SEAL	GAL	15,267.00	\$4.05	\$61,831.35	\$3.70	\$56,487.90	\$5,343.45
410.753	COVER AGGREGATE	TON	38.10	\$1,200.00	\$45,720.00	\$1,670.61	\$63,650.24	(\$17,930.24)
413.6	CRACK FILL PRIOR TO THIN LIFT OVERLAY	LB	50,101.90	\$1.65	\$82,668.14	\$1.88	\$94,191.57	(\$11,523.43)
417.	COLD PLANING BITUMINOUS SURFACES	SY	31,340.00	\$5.58	\$174,877.20	\$3.51	\$110,003.40	\$64,873.80
417.118	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 0.5" DEEP	LF	765.30	\$5.00	\$3,826.50	\$7.63	\$5,839.24	(\$2,012.74)
417.21	MICRO-MILLING BITUMINOUS SURFACES	SY	98,865.00	\$1.50	\$148,297.50	\$0.83	\$82,057.95	\$66,239.55
417.416	RUMBLE STRIPS, 16" WIDE	LF	1,042.00	\$6.50	\$6,773.00	\$10.00	\$10,420.00	(\$3,647.00)
419.13	BONDED WEARING COURSE, TYPE C	TON	8,681.30	\$125.25	\$1,087,332.83	\$120.83	\$1,048,961.48	\$38,371.35
419.3	POLYMER MODIFIED EMULSION FOR BWC	GAL	50,432.50	\$2.34	\$118,012.05	\$2.75	\$138,689.38	(\$20,677.33)
559.412	REPAIR ASPHALTIC PLUG EXPANSION JOINT (F)	LF	507.00	\$137.75	\$69,839.25	\$103.46	\$52,454.22	\$17,385.03
604.0007	POLYETHYLENE LINER	EA	39.00	\$115.00	\$4,485.00	\$134.01	\$5,226.39	(\$741.39)
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	39.00	\$700.00	\$27,300.00	\$467.39	\$18,228.21	\$9,071.79
608.2401	4" CONCRETE SIDEWALK	SY	22.10	\$150.00	\$3,315.00	\$92.53	\$2,044.91	\$1,270.09
608.2801	8" CONCRETE SIDEWALK	SY	536.70	\$165.00	\$88,555.50	\$125.00	\$67,087.50	\$21,468.00

Friday, March 4, 2022 Page 6 of 9



				A-Bide	der	PS8	&E	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	3.80	\$220.00	\$836.00	\$476.96	\$1,812.45	(\$976.45)
609.21	STRAIGHT GRANITE SLOPE CURB	LF	1,705.00	\$23.00	\$39,215.00	\$24.17	\$41,209.85	(\$1,994.85)
609.22	STRAIGHT GRANITE SLOPE CURB WITH RADIAL JOINTS	LF	4.00	\$75.00	\$300.00	\$19.57	\$78.28	\$221.72
609.5	RESET GRANITE CURB	LF	9,119.00	\$9.00	\$82,071.00	\$10.00	\$91,190.00	(\$9,119.00)
615.014	RELOCATING TRAFFIC SIGN TYPE A	U	2.00	\$6,700.00	\$13,400.00	\$5,000.00	\$10,000.00	\$3,400.00
615.02201	TRAFFIC SIGN TYPE B, BREAKAWAY MOUNTS	SF	130.00	\$170.00	\$22,100.00	\$129.49	\$16,833.70	\$5,266.30
615.0501	TRAFFIC SIGN TYPE BB	SF	49.00	\$20.00	\$980.00	\$20.33	\$996.17	(\$16.17)
615.0601	TRAFFIC SIGN TYPE CC	SF	32.76	\$17.00	\$556.92	\$16.77	\$549.39	\$7.53
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	2.00	\$1,200.00	\$2,400.00	\$1,200.00	\$2,400.00	\$0.00
616.95	INSTALL TRAFFIC STUDY EQUIPMENT	U	2.00	\$10,000.00	\$20,000.00	\$7,000.00	\$14,000.00	\$6,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	82,200.00	\$1.00	\$82,200.00	\$1.00	\$82,200.00	\$0.00
618.7	FLAGGERS	HR	1,743.00	\$18.00	\$31,374.00	\$31.50	\$54,904.50	(\$23,530.50)
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$619,763.82	\$619,763.82	\$340,000.00	\$340,000.00	\$279,763.82
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	6.00	\$2,640.00	\$15,840.00	\$3,645.00	\$21,870.00	(\$6,030.00)
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$2,400.00	\$4,800.00	\$2,398.00	\$4,796.00	\$4.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	2.00	\$8,400.00	\$16,800.00	\$13,151.00	\$26,302.00	(\$9,502.00)
628.2	SAWED BITUMINOUS PAVEMENT	LF	62.00	\$20.00	\$1,240.00	\$5.30	\$328.60	\$911.40



WOODSTOCK-LINCOLN 43494 X-A005(117)

				A-Bide	der	PS8	kΕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	481,310.00	\$0.16	\$77,009.60	\$0.22	\$105,888.20	(\$28,878.60)
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	<u> </u>	84.00	\$15.00	\$1,260.00	\$7.50	\$630.00	\$630.00
632.22	PREFORMED RETROREFLECTIVE TAPE, TYPE II (NON-REM.) SYMBOL OR WORD	SF	66.80	\$40.00	\$2,672.00	\$12.50	\$835.00	\$1,837.00
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	210.00	\$2.00	\$420.00	\$2.25	\$472.50	(\$52.50)
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	7,368.00	\$1.00	\$7,368.00	\$1.84	\$13,557.12	(\$6,189.12)
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	5,947.00	\$2.00	\$11,894.00	\$4.51	\$26,820.97	(\$14,926.97)
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	84.00	\$4.00	\$336.00	\$6.60	\$554.40	(\$218.40)
632.3124	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 24" LINE	LF	34.00	\$6.00	\$204.00	\$10.07	\$342.38	(\$138.38)
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	77.30	\$35.00	\$2,705.50	\$9.37	\$724.30	\$1,981.20
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	140,168.00	\$0.70	\$98,117.60	\$0.43	\$60,272.24	\$37,845.36
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	18.00	\$3.00	\$54.00	\$5.05	\$90.90	(\$36.90)
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	9,056.20	\$5.00	\$45,281.00	\$3.73	\$33,779.63	\$11,501.37
645.531	SILT FENCE	LF	9,056.20	\$5.00	\$45,281.00	\$2.18	\$19,742.52	\$25,538.48
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	21.80	\$56.28	\$1,226.90	\$3.33	\$72.59	\$1,154.31

Friday, March 4, 2022 Page 8 of 9



WOODSTOCK-LINCOLN 43494 X-A005(117)

				A-Bide	der	PS8	ķΕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
677.42013	RWIS SUB-SYSTEM EQUIPMENT	U	1.00	\$11,500.00	\$11,500.00	\$5,000.00	\$5,000.00	\$6,500.00
692.	MOBILIZATION	U	1.00	\$359,674.71	\$359,674.71	\$329,370.00	\$329,370.00	\$30,304.71
698.12	FIELD OFFICE TYPE B	MON	8.00	\$3,590.00	\$28,720.00	\$2,500.00	\$20,000.00	\$8,720.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$0.00
1010.21	ASPHALT CEMENT ADJUSTMENT FOR EMULSION	\$	5,794.00	\$1.00	\$5,794.00	\$1.00	\$5,794.00	\$0.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	28,418.00	\$1.00	\$28,418.00	\$1.00	\$28,418.00	\$0.00

Total: \$4,796,762.26 \$4,398,668.90 \$398,093.36

Friday, March 4, 2022 Page 9 of 9